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Question | Working Answer | Mark | Notes
‘eradient of JK =05 or m x 2 =1 6 | M for finding the
gradient of JK using m
omy =1

[EEI -
6 2
2%
2%-240r k=12 5e

2

MI for expressing the
gradient of JK in terms
ofj and k or a correct
equivalent equation

G-67+ (- 157 =800

or

[;m Aus)
L2 oe
272

M for finding equation
of JK in terms of  and k

or

o for finding the
5 5 ‘midpoint of M
(j+4)' +196=100+(k~1)"0c
or
for equating length
HJ with length HK
g 3P~ 78k +495=0 oc MI (dep on M3)

or 57 -60/~140=0 oe
or 5K~ 150k + 1045 =0 0c
or 37 -12j-36=00e

or

k+15

gradient HM: eg “ZT

k=2j+15a

writing a comrect
quadsatic expression in
the form ax® +bx+c
(=0) (allow ax® + bx=
B

or
A comrect equation for
the gradient of HM in
terms of jand F or a
correct equivalent
ol
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eg (k—19)(k-11)(= |eg (-6)(+2)(= MI (dep on M3) for a
0) 0) complete method to

or or solve their 3-term

o quadsatic equation
(allow one sign error in
the use of the quadratic
formula)

or

a comrect method to
climinate cither  or

eg2k-24=

23

or
(k-13) ~169+165(=0)

7+ 15 0

j==2k=11 AL
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Question | Working Answer | Mark | Notes
J+6 k+15 6 | ML for finding the

[T‘iz ) hel ‘midpoint of M

AT k15 MI for expressing the
2 sark-%=15erk=2+15ar gradient of JK in
7+6 3 terms ofj and or a
b corect equivalent

equation

G-+ (- 157 =80 oe
? +196 =100+ (k—1) e

M for finding the
length of JK in terms
ofjand

o for equating length
HJ with length HK

174k+1309=0

MI (dep on M3)
writing the correct
quadsatic expression

or 38 +6k—429=00c in form
3P+4g+ @ +bx+c(=0)
84=00c

allow ax’ + by =c
Eg Eg MI (dep on M3) for a
(F-22)G+2)(=0) |(Gk-119)k-11)(= complete method to
or 0 solve their 3-term.

or

2

or
(j+8) —64+28(=0)

or
(k+1) -1-143(=0)

quadsatic equation
(allow one sign error
in the use of the
quadsatic formula)

Al

Tt Gumnls





image5.jpeg
Working Answer [ Mark Notes
\ BREE
[“'*2,7”” or 6
2 2
13)
s 7(:;Joeor15 vt
10208
oe
M1
mx = =-10e or m=
2
3
mzroeZocgrac o M Orfor y=-2x417
3 3
c=17ceor R [NB:“13", 6" and "~ 2
n3n 2oy 3
3 must come from correct
working]
3y+2x=51 AT for 3y+2x=51 or3y=-2x

+51 etc but must be integer
coefficients

Total 5 marks
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Question Answer Notes
@ MI for a correct method to find one coordinate or
for one coordinate correet or for (—1.5. 9)
() Aloc
[O) =3 BL
© No with BI No (oc) and e.g. line goes through (100, ~298)
reason.

or (1013G3.). fsoz)mi% —302] or

(3 x100)-302

2 not (+)2

Tl manles
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| Question Workin Aunswer | Mark Notes
& 33yor Ml
y=—x(+33)or
7
(eradient=) & oe
€ 1
M1
mx &= tor
(gradient of M =)
k-6 M1 or complete method to find equation of
dep line By =—2x+28) and then
substitution of x =4
12 4 a1
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Question

Working

Answer

Mark

Notes

—4y=5-3x

3=0.75x (+ c) or gradient of A=
0.750e

gradient of B=

No with correct
figures

M1

solates term iny

M1

M1

08 (Fo)oe

Al

<g No gradient of A
0.75 but gradient of B=
080c

Total 4 marks
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Question
number

Working  |Answer

Mark

Notes

@

ML May be implied by second M1 or by,

v

Lx+cevenifvalue ofcis
incorrect

or finds coordinates of 2 points on
theline eg (3, 0), (0, -2), table
sketch showing line cutting x-axis at
3and

y-axisat—2

oe

M1 for comredt reanrangement of
3y=2x— 6 with y as subject
or for clear attempt to use

vert difference
horiz difference
onL

for their two paints

oe

Al for 2 oeinc decimal equivalent
rounded or truncated to atleast 2 dp

Donotaward Al for 2x
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x6+c

©

M1 for correct
substitution

into y="27x+
Y73

using their answer
to(a)oe

SC
Award B2if

x-6)

seen; then isw.

Al

inc2x—3y=-15
ftfrom their answer

t0(a)

SCAward Bl

SCIEMO A0, award BI
for answer with
omitted which would

otherwise score M1 Al eg

5

2x-3ifansto (@)is2

=6 withno
working

SCIEMO Ao,
award B1 for

where c#5 or
€20

(ie donot
award this

does ot ft
from (a)

Total 5 marks
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Working

Mark

Notes

@ |y=3-15rer2x-15=yar M1 | If using gradients, must
m=2(A) orm=-15(®B)or state 1 = or gradient =
(©or m=-2(D)
AadC 2| Al | (allow cosrect equations
listed)
O] M | can be any valu.
eg
MI
Sx+ry=11 3 Al |oeeg 10x+4y=220r

in a different but correct
form but must have
integer values

eg dy==5c+11

Total 5 ma
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Answer

Mark

M1

one correct coordinate or

2 o)
Al
® M1 Award M1 for
2 Al Accept3or0.75
2
© M1 cormmay be letters orany.
umber except = 0.m=0
x+20e orm
2 |AIR Accepty

4oe
Award M1 A0 for S +2

Total 6 marks
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Question

‘Working

Answer | Mark

Notes

@

2y=3x—150r 2y=15-3x or
15x-p=75

M1

Or for finding the
coordinates of fwo correct
points that lic on the line

M1

o difference of y values

Gifference of x values
for any two correct points
on the line

a1

o
Do not penalise a mistake
in the constant term if the
correct answer i given
SCB2 for 1.5¢
SCBI fi from their
b

®

©.-75 1

B1

oc

©

0=15x—2+c or 3x—2=kor

0=15--2)

MI

15 Gom @ o

y=15x+3

a1

15 Gom @
or 3x—2y=—6 or

15(r+2) 0

Total 6 marks
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Question

Answer

Mark

Notes.

@

ML

For a cortect equation with y the
subject or

diff of y values
Giff of x values
corect points on the line.

Allow 0.666(66666...) rounded.
or truncated to at least 3SF

for any two

instead of

i

Al

Allow MIAT if § follows an

equation with an incorrect

constant.
2

Egy=2r+3 followed by an

answer of 2

3
M1AO for 2+ 2 or 3x
Allow 0.666(66666...) rounded
or truncated to at least 3SF
instead of

®)

5=-3x2+cor
+3x2

Ml

Al

Allow ISW
oefeg y-5=-3(x-2)]

Total 4 marks
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‘Question

Working

Answer

Mark

Notes

@

T=10-3rg, 4y=3x-10

M1 May be implied by second M1 or by y
even if value of ¢ is incorrect
o find coordinates of 2 points the line eg (0,
25),x=2,y= 1, table, diagram.

T

W1 or for clear attempt to evaluate

vertdft

vertdtt (e their pts
horizdiff

Evward 3 marks for correct answer f efther first

A1 M1 scored or no working shown.

SCIFNO, avard b1 for -

®

Sx+12y =30

10x-123

T5x+20y =50

15¢-18y =69

Wi for coefficients of x or y the same or for correct
rearrangement of one equation followed by
substitution in the other

”5‘(74\“;7“)

A1 cao dep on M1

W7 (dep on T5C M) for subsituting for other
variable
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‘Award 4 marks for correct values if at least first
M1 scored

B1 Award 5 marks for correct answer it at least first
M1 scored
ft from their values of xand y.

Total 8 marks
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Working Answer  |Mark Notes
9-3 [ 3) 5 |MI formethod to find gradient of L
eg 2
sl 3
Vy="075"+c MI use of their gradient | M2 for
in an equation .
¢ may be numerical | ¥~
—1="075"%5+c¢ M1 method to find ¢ oe
-2
=2
T
ENC Al correct equation
y=Txt—— oe e
4 4 (equation in any form)
4y—3x=-19 Al oc with integer cocfficients

eg 3x—4y=19:4y=3x—19

Total 5 marks
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Q Worl Answer Mark Notes
‘gradient =2 3 [MI form=-2statedory
where k% 72
(2 Fe or ¥ MR Correct substirution to find ¢ for
- 3)oe their gradient
y=-2x+7 Aloe (M2 for2x+7orL=-2x+7)

Total 3 mar
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Question Working Answer | Mark Nates
3 Ml For
recognising
gradient

o
2x+
where c#4 | ¢

Miindep c=13

Al oceg y-7=-26-3)

SCB2 for—2x+13

Total 3 marks
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Answer Mark Notes
M | for amethod to
find gradient
MI | for amethod to
find ¢
MI | dep on M2
Sc—3y= | 4 |Al
lloe

Total 4 marks
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Question

Answer

Mark

Notes

@

ML

M1

Al

for any correct method to find
gradient

for % " substituted for m or =2

substituted for ¢ iny =mx + ¢
or
WL

)

y-1=

(x~6) o or

%“(x—g) oe

NB Award M2A0 for a final
answer of
05x-2 or L=05x-2

Alternative

2=0+c:1=6m+c

1=6m+-2

MI

M1
Al

Form two simultaneous
equations

substitute for ¢

NB Award M2A0 for a final
answer of

05x-2 or L=05x-2

®

MI

Al

Tor correct substitution of (4, -2
into

Lot ¢ oing i
‘radient found in (a)
fory= %x ~ 40 follow

through with their gradient
found in (a)

NB Award MIAO for a final
answer of 0.5v—4

Total 5 marks
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Answer

Mark

Notes

M1

For 0=) (Lwr

(c may be any number o leter) or
For (y=)mx I where m is non-zero
or for

Gradient = = oe orm = < oe

clearly stated

1oe

Al

For a fully a correct equation for L

Mift

For correct substitution of given
coordinate into their equation Follow
through their gradient in ()

Al

oc

Egy

Total 4 ma
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Question. Answer | Mark
Ml for M2 for
gradient sketch of L with
of line 4
©3yand 2.0
B HmdQ.0
M1 marked on axes
AND (1.3) and (2,
-1) joined
“\fh ® | Al accept no with —= (or — 0.666 ):mll%(nr
reason 1333.)

2 4
S and 5 may be seen as coeffcients of x iy

mx+e OR

shows that 3y = 4~ 2x and line through 4B

4.5 1
=Zx+2)imtersectat x= -~ ory=->OR

(y=37+3) s VS

L has a negative gradient (with evidence), line AB

has a positive gradient (with evidence)

NB: Any value given for a gradient must be correct

Total 3 marks
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| Question Working Answer Notes
@ | (Gradient=) M
s
— o
Fr T g —08c+ 1200 B2 Sy+4r=60
Ifnot B2 then
BI fory = 08¢+ “c” where ¢ = numerical
value# 1201 letter
o Sy + 4x = “¢” where ¢ = numerical value #
12 or letter
or-08c+ 12 0r 5y + 4
® AT MRt Correct substitution into (@) also 5+ 4% =
Sll= = xS+ &
= or identify y intercept
08v-7 oe
Al

Total 5 marks
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Q Answer | Mark Nates
@ 2 |MI condone correct gradient embedded
inan equation e.g. y = —3x+ ¢
or expression e.g. —3x
or for an answer of 3
-3 Al
Ad % I e L

Total 3 marks
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